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@ 4x-1=7[2] © 5x=3x-4[2]

® x-2=-2x[2] ® 4-3x=-2x[4]

@ 8-—x=2x][1] ® 3x=2x+5 [-5]
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@D4x—-1=7T—-4%x2-1=7
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Ox—-2=-2x—>2-2+-2x2
®4-3x=-2x>4-3x4=-2x4
@8-x=2x—>8-1#2x1
@3x=2x+5—>3x(-5)#2x(-5)+5
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@ 4x+5=9—-4x=9+5

O 5x+2=6x—>5x—6x=-2

® 3x+5=6x-8—>53x—-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

@ x-1=-x+3—->x+x=3-1

® 6,0 @ 6, © ®o. e
@ ©,6 6 5 ©6 0o
@4x=9-5

® -2x-3x=-2-3
@x+x=3+1




D 3x-2=x+7 @x—9:18+x
@ 4x-2="5-4x @ x2-3x=x*-9
® 5x-17=0
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@x-9=184+x, x—-9—-x—-18=0, —27 =0 o|BE2 AX}=
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@Dx*-3x=x2-9, >-3x-x>+9=0, 3x+9=0°]2=2
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D 7x—40 = 2x (8) @qu:i (7)
® 14=-2x+18(2) @ 5x—7=8x+11(-6)

® 2y+2=-3y-8(-2)
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@7+3x:4x—>3x—4x:7

@5x+3:7—>5x:7+3

@ 3x-4=5x—>3x-5x=14

@ Ax+2=-3x+1->4x+3x=1-2

® 8x+7=-2x—>8x+2x=-7

D7+3x=4x—> 3x—4x=-7

@5x+3=7T-5x=7-3
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D x+2=-1 - x=-1-2

@ —4x+6=0 — 6=4x

® 2x+5=5-x — 2x+x+5=5

@ -2x-3x=5x —> —-2x-3x-5x=0

(@)§—6x:1—12 - —6x-x=-12+48

®8-6x =x-12
—-6x—x=-12-8
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O x+6=2x-7+x @ 4(x+3)=12
@x2—2(x+1):1—x @ x-1=-x+1

® x(x-5)=10x+x>+1
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®x2-2(x+1)=1-x
xX2-2x-2=1-x
P-x-3=0
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APLAA 2 (x+1)=3(x—1)+5 = = uj x o] Zr2?

® -1

—2x-2=3x-3+5
-2x—-3x=2+2
-5x=4
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@® 2x-3=9 @ 2(x+1)=3x-4
(@)5x—7:3(x+1) @ Tx+1=2x+3

® x-1=2x+6

B

4x-3) =x+3 S EH4x-12=x+3,4x—x =3 + 12,
3x=15,x =5 o]},
®5x-T=3(x+1)SEH5x-7=3x+3,5x-3x=3+7,
2x = 10,x = 5 °|t}.
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® 2x=10-3x @ 9-2x=x

®2(x+2)=1 @ 3(x—1)=4x

@4 (2x—3) =5x

B

Db5x=10, x=2
@3x=9,x=3

1
@x+2—§,x——§
@ 3x-3=4x,x=-3
®8x—12=5x,3x=12,x=4
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@ b5x+2=17 @ Tx-11=4x-1
® x+8=-2(x-1) @3(4x—7):1—7(2x+5)
® -5(x+6)=12(x—4)

B

3—-bx=-3x+4
—2x=1
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® 5x+2=17
5x=15 .. x=3

@ Tx-11=4x-1
10
3x=10 .. x=—
X X 3

® x+8=-2(x-1)
X+8=-2x+2
3x=-6 .. x=-2

@ 3(4x-7)=1-7(2x+5)
12x-21=1-14x-35
1

Wx=-13 - x=--
X X 9

® -5(x+6)=12(x-4)
—5x—-30=12x—48
—17x = -18
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D®3(x-1)=9 @ 2x+7=15
x+7 1 9
@ 5 =2 @ S+ -5 =1

® 0.2(5x-7) =26

B

®3x-1)=9

3x-3=9

3x=12 .. x=4
@ 2x+7=15

2x=8 .. x=4

7 _

® T1 = 2 (o) 3 & FoHH)
x+7=6 .. x=-1

1 9 _
@§(X+7)—§=1(ook%°1]2%:§’6]’ﬁ)
xX+7-9=2

x—-2=2 .. x=4

® 0.2(5x—7) = 2.6 (FH 10 = F5HH)
2(5x—17) =26

10x—14 = 26

10x = 26 + 14

10x=40 .. x=4
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6x—14=2(5+6x) -3
6x—14=10+12x-3
6x—14=12x+7
6x—12x=T7+ 14

—6x =21
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6x—14=3(5+3x) -6
6x—14=15+9x—6
3x=-23
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